Double Displacement Reactions
Double displacement reactions have the general form AB  +  CD   _______ + _______
Two common types of double displacement reactions are 
	1.

	2.

A precipitation reaction always forms a _____________________________ as a product.
The symbol (s) means _________________ and the symbol (ppt) means ________________________.
The symbol for aqueous, in solution in water, is ___________.
Draw arrows to indicate which cations and anions will combine to form the products:
AgNO3 (aq)  +  NaCl (aq)    AgCl (s)  +  NaNO3 (aq)



When Bronsted-Lowry acids and bases react the products are ______________ and ______________.

When all the products are aqueous a reaction HAS / HAS NOT  occurred.
The four steps for writing a double displacement reaction are
1.

2.

3.

4.

Salts with the following are ALWAYS soluble in water:
___________________________________________		_____________________________________________
____________________________________________		______________________________________________

Salts of halides (F, Cl, Br, I) are soluble EXCEPT with:
_____________	_____________     _____________    _____________ 

Salts of sulphate are soluble EXCEPT with:
_____________	_____________     _____________    _____________   _____________    

Hydroxide salts are INSOLUBLE, except with:
__________________________________________  and ___________

The complete ionic equation shows _________________________________________________________________________

The net ionic equation shows ________________________________________________________________________________


2 AgNO3 (aq)  +    BaCl2 (aq)  2  AgCl  (s)    +    Ba(NO3)2  (aq)

Complete Ionic Equation:
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